
                       PF19921

PF19921
Packing List

M6*15
52 Sets

16 Sets

1PC

8PCS

1PC 4PCS

16PCS

1PC

8PCS

1PC

16 Sets

8 Sets

1PC

                     Corner Support Bar                             Plastic Holder 

                            Canopy M1                                Canopy M2                                 Mesh

                                      Peg

4PCS

4PCS

4PCS 4PCS

4PCS

8PCS

1PC

4PCS

                    Long Top Frame Beam                      Small Corner Beam

                      Middle Top Beam                             Mesh Pipe

                                   Base                            Top Connector                       Corner Connector 

                        Middle Connector

4PCS 8PCS
                                    Post                             Side Frame

M6*15

M6*30 M6*45

Wrench Allen Key Straight Allen Key

Assembly Tips: In order to facilitate the assembly and make your final product firm and stable, please tighten by a 
 few rounds each screw one by one. After all screws are connected, then you start to tighten each screw to the end.

DO NOT tighten any screw to the end before you’ve connected all screws.
The assembly requires minimal level of DIY skills if you follow the instructions carefully. In case you encounter any difficulty 
or have any questions, feel free to contact the store or manufacturer.

(+8 as spare parts) (+3 as spare parts)

(+5 as spare parts) (+5 as spare parts)


